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1 L/ &= 41 37 78 10 68
2 MR RRI® 39 40 79 10 69
3 PE lgts 43 37 80 10 70
4 EO B2 40 41 81 10 71
5 =z 5k 39 42 81 10 71
10 WH %6 39 42 81 e 74
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1 BiE 5AS 42 40 82 19 63
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5 B g 40 45 85 14 71
10 BA =8 50 45 95 22 73
15 Bp B85 50 49 99 24 75
20 kB 5= 51 46 o7 20 77
25 B RI 49 54 103 26 e
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1 B IS 41 40 81 21 60
2 ki S8 38 35 73 4 66
3 AH |E 40 46 86 20 66
4 REB &7 38 40 78 8 70
5 HE EfT 39 43 82 12 70
10 B BE 42 38 80 8 72
15 RIE FE 48 53 101 29 72
20 %= BB 42 44 86 12 74
25 BF RN& 50 43 93 18 75
30 FH B2 42 50 92 16 76
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1 BAMKT 42 43 85 14 71
2 mK TE 53 48 101 30 71
3 BX, #NF 44 42 86 13 73




